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285 B LSS T 7 — L (25m) 1/2

HIH : 20244E6H8H (+)~6H9H (H)
No.24 -+ 50m BEREF A LL—RRE

1EXEER 26.0

B K £ B FE 7K B iclE

1 HE BE MAEES =9 14/ 5 25. 48 8H%

ol Ve
2 fiE IR o B S =3 14/ 4 25. 74 8#k
ol Ve

3 & B Y H T RS = 14/ 6 26. 25 8k

4 HE EmA M TRNE =3 12/ 5 26. 75 6%

5 A[H JIE, (SR =3 13/ 5 27.05 6%

6 BA - B =) 14/ 3 27.15 TH%

7 TR AR SN ¥ N =2 14/ 7 27.16 Tk

8 M BERk R =3 13/ 3 27.19 6%

9 R & Y =3 14/ 2 27. 40 6%

10 I B H A& Ak R AT B2 14/ 8 27.57 6%

11 H AR (Y= =l 13/ 4 27.79 6%

12 &0 B KIFE 53 11/ 6 27.92 5k

13 LA fBEXR H A& Ak KA =3 13/ 8 28. 26 5k

14 HAF sk BRI =3 13/ 7 28. 67 45%

15 Il K¥H PN 53 13/ 6 28.75 45

16 Kea FEZEE & =2 13/ 2 29.13 5k

17 & G R = = 12/ 7 29.23 5k

18 & & el TRE = 12/ 6 29. 67 45,

19 FAJI ok Y& 52 12/ 8 29. 91 45k

20 10 il =R =3 11/ 3 30.00 3%

21 Hi% e FIEZ S NES =2 11/ 4 30.23 45%

22 Mg =4 REZEE & =3 12/ 3 31.03 25k

23 J# 2 AR HEE =3 9/ 5 31.28 25%

24 PEHE T Y& 53 10/ 7 32.14 Ltk

25 AW HH N2 HTEE =3 9/ 2 33.00

26 FH HE K= = 5/ 2 34. 04

27 = K & =) 6/ 6 34.10

28 R Yt - = 10/ 8 34. 49

29 m 5K W VB 3 6/ 8 34. 64

30 ®H KK S E=il 3/ 7 39. 36

31 i ] K& =2 1/ 4 39. 94
OPN SREH A (Y= =2 12/ 4 29.55 45
OPN ZJI| #E— Y TR =2 10/ 4 29. 94 4
OPN ZpA  Hf YRR = =8| 12/ 2 30. 96 3k
OPN gk &%= (DY =2 10/ 2 31.15 3tk
OPN HAf  AOEE Y TARNS =2 8/ 5 31. 41 25%
OPN &5 Ui (Y= =2 11/ 5 31. 41 25
OPN BRIl #iith FNE e 52 8/ 6 31.45 2%
OPN 3 AKH TN e =2 8/ 4 31.48 2%
OPN (LI #Fn (DY =2 11/ 7 31.70 2%
OPN {#3i1 Hicd H A @k AT = 10/ 5 32.05 27%
OPN =3} +EpE KRB & = 6/ 2 32.08 25
OPN “&lfy A Fn FEE S = 8/ 3 32. 81 Ltk
OPN 771i% & A [BYNEA= =) 6/ 4 32.89 1%
OPN DU#Ess ik Y TRE = 8/ 8 33.27 1%
OPN EBF  [TfE Fa TR =3 10/ 3 33.27
OPN T RREEIKER (Y= =2 8/ 2 33.53
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285 B LSS T 7 — L (25m) 2/2
HIH : 20244E6H8H (+)~6H9H (H)
No.24 B+ 50m BHEF B A LL—RRE
1EXEER 26.0
B K £ B FE 7K B iclE
OPN (AR & SN ¥ N = 7/ 8 33.78
OPN B &K R o 7/ 3 33.83
OPN J& H ) (YN A= = 9/ 6 33.98
OPN LR KFH Re] A Lt = = 3/ 8 34.16
OPN (LA E KBRS R = 7/ 6 34. 21
OPN AH XK Re] A Lt 52 9/ 7 34.32
OPN K EEZ Y& =l 7/ 5 34. 42
OPN JEEA  #1jZ= KEE =3 9/ 8 34.58
OPN #hipH  Fnfd REZEE & 52 6/ 5 34. 60
OPN FH 1BFH R =8| 7/ 4 34.73
OPN fEH O (Y= =2 4/ 4 34.88
OPN ZZH &Ik (YN = =8| 4/ 6 34.90
OPN HLIt KA Re] A LE = =3 5/ 5 35. 06
OPN )11 BGdr R = =8| 6/ 7 35. 36
OPN #riff  #iE R = 4/ 7 35. 51
OPN JFH  HzE H TRE =3 9/ 3 36. 14
OPN FgdE F5ik YH & = 4/ 5 36. 16
OPN /NFH b R = =2 7/ 1 36. 27
OPN BEZ  Fh3E H & = 5/ 6 36. 28
OPN JbHF Z&iRE R = 5/ 8 36. 46
OPN HEAK  #E YR B = 6/ 3 36. 64
OPN Il HEg RZEE & = 3/ 3 36. 91
OPN [ifjA &S H & = 5/ 4 37.52
OPN AL i} R = =2 4/ 3 37.73
OPN A7 M Fﬁm R =a| 4/ 8 37.90
OPN #a)E AH (Op/NE= =2 3/ 5 38.09
OPN #r3& At FRZEE & = 2/ 5 38.29
OPN 4 &= KER RZEE & =2 5/ 3 38.52
OPN #2 ke RS =3 3/ 6 39.34
OPN IRy SCH WS =3 1/ 6 40. 08
OPN A BRIR - & o 5/ 7 40.18
OPN #RH itk - i = 4/ 2 40. 47
OPN AN  j3HE - H = = 3/ 4 40. 53
OPN A4 e Nl TRE =3 2/ 7 40. 81
OPN ZH R R = 3/ 2 41. 21
OPN fofk FEK - =8| 2/ 6 41.92
OPN 71N R KRS & =8| 2/ 4 42.82
OPN JE¥& FHK R = =8| 1/ 5 49. 91 xF&)
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